
1) 90 x 40

Answer: ____________

2) 14000 ÷ 1000

Answer: ____________

3) Increase 182 by 5/91

Answer: ____________

4) 48 - 21

Answer: ____________

5) A number was shared in the ratio 
14:2. The smaller share was 32. 
What was the larger amount?

Answer: ____________

6) A number was shared in the ratio 
12:4. The smaller share was 22. 
What was the larger amount?

Answer: ____________

7) 12/2 - 16/4

Answer: ____________

8) 7 x 80

Answer: ____________

9) 51 x 76

Answer: ____________

10) Increase 20 by 1/2

Answer: ____________

11) 9/3 x 16/5

Answer: ____________

12) 16/3 x 20/4

Answer: ____________

13) 12 x 82

Answer: ____________

14) 88 - 70

Answer: ____________

15) Decrease 130 by 1/13

Answer: ____________
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16) 86 - 79

Answer: ____________

17) 44 - 33

Answer: ____________

18) A number was shared in the ratio 
15:1. The smaller share was 21. 
What was the total amount shared?

Answer: ____________

19) 10/
10 ÷ 9/2

Answer: ____________

20) 11/
4 ÷ 2/7

Answer: ____________

21) A number was shared in the ratio 
12:9. The smaller share was 27. 
What was the total amount shared?

Answer: ____________

22) Decrease 176 by 1/22

Answer: ____________

23) 71 + 95

Answer: ____________

24) 6/5 x 9/2

Answer: ____________

25) 18/4 - 4/10

Answer: ____________

26) 65 - 19

Answer: ____________

27) 70 ÷ 10

Answer: ____________

28) 13/
5 ÷ 13

/4

Answer: ____________

29) Decrease 114 by 1/38

Answer: ____________

30) 6/
6 ÷ 3/7

Answer: ____________
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31) Increase 104 by 3/52

Answer: ____________

32) 91 - 35

Answer: ____________

33) 13/11 - 1/11

Answer: ____________

34) 14/10 - 4/9

Answer: ____________

35) 16/
3 ÷ 19

/8

Answer: ____________

36) 9/2 - 10/3

Answer: ____________

37) 59 x 6

Answer: ____________

38) Increase 111 by 3/37

Answer: ____________

39) 12/5 - 2/12

Answer: ____________

40) 15/
11 ÷ 14

/4

Answer: ____________

41) A number was shared in the ratio 
8:16. The smaller share was 6. What 
was the larger amount?

Answer: ____________

42) 56 ÷ 4

Answer: ____________

43) Increase 206 by 3/103

Answer: ____________

44) 24 x 8

Answer: ____________

45) A number was shared in the ratio 
13:6. The smaller share was 6. What 
was the total amount shared?

Answer: ____________
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46) 4/
2 ÷ 13

/8

Answer: ____________

47) 14 ÷ 2

Answer: ____________

48) 6/4 x 9/3

Answer: ____________

49) A number was shared in the ratio 
9:3. The smaller share was 26. What 
was the total amount shared?

Answer: ____________

50) 15/
9 ÷ 3/8

Answer: ____________

Total: ___ / 50
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Answers:

1) 3600 2) 14 3) 192 4) 27 5) 224 6) 66 7) 20/1

8) 560 9) 3876 10) 30 11) 93/5 12) 262/3 13) 984 14) 18

15) 120 16) 7 17) 11 18) 336 19) 2/9 20) 95/8 21) 63

22) 168 23) 166 24) 52/5 25) 41/10 26) 46 27) 7 28) 4/5

29) 111 30) 21/3 31) 110 32) 56 33) 11/11 34) 43/45 35) 214/57

36) 11/6 37) 354 38) 120 39) 27/30 40) 30/77 41) 12 42) 14

43) 212 44) 192 45) 19 46) 13/13 47) 7 48) 41/2 49) 104

50) 44/9

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

October 16, 2022

Sr: 16102022-2876

 

http://www.geekschool.co.uk

